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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311816
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213120618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Main purpose of giving home work 1s that the students

DT 20830 3050 TNE) &0 ;’i"f@ﬁ;@
e L =) J

o}

Options :

Remain busy at home.

s08 53 36° WP sorTRE
55213181001.

Study at home.

208 58 SO S0
55213181002.

Their progress can be enhanced.
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Develop the habit of self study:.

%Lhcri, ©LraHE eIt DosrohoSERE
55213181004.

Question Number : 2 Question Id : 55213120619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

From the list given below 1dentify the leamer characteristics which would least facilitate teach-
mng-learning system to become effective.
808 & oD eFmreD JonoGod s (DB DirhHESE® ©8 8%
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Options :
Prior experience of learner

@“‘n"*’ 0N 118 S0
55213181005.

1

Leamer's famuly lineage

OFPIHHR Henom FEIGT THE0
55213181006.

Aptitude of the learner

PR Jfre TP
55213181007.

Learner's stage of development

OIFRRN R BY
55213181008.



Question Number : 3 Question Id : 55213120620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

On the basts of summative tests, a teacher 1s mterpreting students, performance m terms of their
wellness life style evident m behaviour. This will be called:
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Options :

Contmuous and comprehensive evaluation

¥elel-IoR AT [ REvbbilapgel=thle

552131810009.

Normn - referenced testing

Daree el E:Lﬁ
55213181010.

Criterion - referenced testing

Ceﬁw BT - 0POHE 80N
55213181011.

Formative testing

Er=ses HEF
55213181012.

Question Number : 4 Question Id : 55213120621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A teacher shall inculcate social and moral values among students effectively by
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Options :

Delivering lectures on values

Lenew e,-.*""'ﬂ“wc' ““*r::‘io

55213181013.
Showing TV programmes
8. D. 5"’5“ ;w:':'ﬂﬂ Sevireletalale)
55213181014.
Involving students actively in co-curricular activities
Do J;ars; SEESrE rrideEnesh Iabto
55213181015.
Observing religious festivals
SDHNBEIR Dothrien xdhdio
55213181016.

Question Number : 5 Question Id : 55213120622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following doesn't belong to key behaviour in effective teaching?

BoQAS® (HrrdHosiod S5 Sonofod &ire (HIEIH Josa.

Options :
55213181017.



Instructing students to copy from black board
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Instructional variety
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55213181018.

Questioning

DosStio
55213181019.

Using student ideas and contribution

Do &SI 0 IO DAEFNoSEo
55213181020.

Question Number : 6 Question Id : 55213120623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following research types focuses on addressmg an immediate problematic situation”
& 8ol & $0 e 850 ) s‘iéa’a:ﬁs $ode D08 BB,
Options :
Applied Research

508 HoSBES
i

55213181021.

Action Reserach

55213181022.



Experimental Research

BRFrES B0TES
55213181023.

Fundamental Research

BES DI
55213181024.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
5521311817

Yes

Question Number : 7 Question Id : 55213120624 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following doesn't affect research ethics?
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Options :

Faulty research design

S OB DD DO G Skes
55213181025.

Choice of sampling techmique

2SI DYS woBs
55213181026.

55213181027.
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Reporting of research findings

HOSFE Do JTDoSto

Inaccurate application of statistical techniques
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Sub-Section Number : 3
Sub-Section Id : 5521311818
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213120625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following, reporting format 1s formally prescribed?
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Options :

Doctoral Ievel thesis
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552131810209.

Master level thesis
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55213181030.

Post-graduate level dissertation

2. 8. Kpow AEORT
55213181031.
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All the above

e
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Question Number : 9 Question Id : 55213120626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an initial mandatory requirement to begin research?

DOFEID |FrBodosmRs SDTR0P S0othrr SFINRE 07

Options :

Developing a research design

HOSES S Srfrodiosto
55213181033.

Formulating a research question

05 G (HE Erdrofiodto
55213181034.

Deciding about the data analysis procedure

Szpod DFRee (BB Erdrotiostio
55213181035.

Formulating a research hypothesis

HOTER BoBY)He 0ot
55213181036.

Question Number : 10 Question Id : 55213120627 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 15 true i the context of the testing of a hypothesis?
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Options :
Only the alternative hypothesis can be tested.
webRaS 205gKeh SrEh B§ouhay)
55213181037.
Only the null hypothesis can be tested.
e HOZORPORD SrED HEZ0SD5D)
o (=¥} Cov
55213181038.
Both. the alternative and the null hypotheses can be tested.
0l I83 Hodn S HoseFot BEFoWH
55213181039.
Both. the alternative and the null hypotheses cannot be tested.
so8IHS HOAL Py BoseFOD HEZ0SBIW.
55213181040. - &
Sub-Section Number : 4
Sub-Section Id : 5521311819
Question Shuffling Allowed : No

Question Id : 55213120628 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



This episode took place in August 1950. The Cold War was in its early stages. with the two
superpowers in eyeball-to-eyeball confrontation that threatened nuclear catastrophe. The People’s
Republic of China. which had just emerged from a bloody civil war and was seen at the time as the
Soviets’ closest ally. was prevented from taking its permanent seat in the UNSC because of
Aanerican opposition premised on Cold War logic. Furthermore. war was raging in the Korean
penminsula. with U.S. and allied troops locked 1n fierce combat with North Korean forces supported
by China and the Soviet Union.
Nehru was trying to carve a policy that ensured India’s security, strategic autonomy and state-led
industrialization in these very dangerous times. He was well aware of the tact that pushing China
out, as the U.S. wished to do. was a recipe for perpetual conflict that could engulfall of Asia. To
him. the Korean War appeared a forerunner to more such conflagrations in Asia that could even
turm nuclear. The U.S. had dropped nuclear boimbs on Japan only five years ago and many observers
believed it would not hesitate to do so again in an Asian conflict, especially since nuclear deterrence
had not yvet become a recognized reality. Nehiu did not want India to get embroiled in hazardous
Cold War conflicts and become a pawn in the superpowers’ great game risking its owmn security.
Nehru’s approach to China was dictated by real politic and not wishful thinking. He understood
that peace could not be assured in Asia without acconumnodating a potential great power like China
and providing it with its proper place in the intermational system. Moreover, China was India’s
next-door neighbour and it was essential for New Delhi to keep relations with China on an even
keel and not fall prey to the urgings of outside powers. the U.S. foremost aimong them. which were

following their own agendas that had nothing to do with Indian security interests.
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Sub questions

Question Number : 11 Question Id : 55213120629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

According to the above passage. which one of the following lines is correct?
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Options :



Nehru tried to elude the Cold War clash to show his identity and become a pawn in the political
SUpIEMAcY gane.
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55213181041.

Nehrunever tried India to get mnvolved m treacherous Cold War fight because of fear of War.

ot gabo e I Apisr P68 $F 06° SR $0otd.
55213181042. .

Nehm's endeavor is to become closer with US as 1t 1s the superpower in the World and he did not
want to disturb the big counties in Cold War clash.
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Nehrunever desired India to get misky Cold War clash and become a puppet among the counties
who fight for a supremacy position.
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Question Number : 12 Question Id : 55213120630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The paragraph suggests that Jawaharlal Nahm was a
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Options :
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Smmer
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Great politician
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55213181046.

Cowardice

D08
55213181047.

Good policy maker

s0od) Pre BRHEE
55213181048.

Question Number : 13 Question Id : 55213120631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The Cold War was a period of geopolitical tension between

S8 T FIFeS Q58 oo

Options:
The Soviet Union with 1ts satellite states and London after World War IT

Botés (Do dnio &Tmd ©otid H0RE Oy AN CrdADR TR &R gk H0RS
552131810409. S @ S

The People’s Republic of China with its satellite states and the United States after the First World War

55213181050.

55213181051.



The Soviet Union with its satellite states and the United States after World War IT
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The People’s Republic of Chma and Japan with other countries and Soviet Union after World War IT
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55213181052.

Question Number : 14 Question Id : 55213120632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The United States detonated two nuclear weapons over the Japanese cities of Hiroshima and
Nagasaki n

20T Wl SIS e S0k e Both O ANCPORD Saehodod.
Options :
1943
55213181053.
1944
55213181054.
1945
55213181055.
1946
55213181056.

Question Number : 15 Question Id : 55213120633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Nehm favoured over India for permanent membership in the UN Security Council,
UN ¢ft5ee sootsDe? &8 g 80 Wduasnft\ TR0 TR o= ) NdBoTS.
Options :
11,8,
©DCse Sodns oelgpen
55213181057.
Chma
e
55213181058.
Soviet Union
DA CrddhR
55213181059.
Korea
Sgelevi
55213181060.
Sub-Section Number : 5
Sub-Section Id : 5521311820
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213120634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Communication always takes place within

55008 ES Qgd)te 23%rHe0s
Options :
Two persons
2R e D
55213181061.
A context
2.8 Bosod®
55213181062. -
External only
(IO SRS
55213181063.
Internal only
Eoépér::rw?ﬂ
55213181064. '

Question Number : 17 Question Id : 55213120635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Any effective classroom conumunication must be

SEHBHOE® & BDEHoSTS S ISR S0,
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Options:
Syllabus centric
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Student centric

XrGoél Soorr

55213181066.
Classroom centric
=085 Solore
55213181067.
Culture centric
%o 8 Sogorr
55213181068.

Question Number : 18 Question Id : 55213120636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these is not mandatory for effective communication?

o
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Options

Understanding

oo ToSSKo
55213181069. '

Politeness

ST S
55213181070.

Listening

Do
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Ambiguty

Lofiis
55213181072. o

Question Number : 19 Question Id : 55213120637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is correct?

800 >&S° D& JBIL?

Options :
All gestures can have same meanings in same cultures.
Domen oy $od Wed’ ot ool DA Ssotrow.
55213181073. = e i 5
All the gestures can’t have different meanings in different cultures.
Sogen o Bo¥) Hed® &8 el 500 S0k,
55213181074. -
Some gestures can have different meanings mn different cultures.
Q) Kogen DY) Kok j@eod® Tt eped DN sotran.
= bl bt .
55213181075.
Some gestures can have same meanings in different cultures.
Q) Bogen HIF) oK) Hed® o oress SDN sotrow.
= :
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Question Number : 20 Question Id : 55213120638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following :
& B0l & 2858508 ¢

List-I List-II
=ee-1 =im-11
1. WhatsApp a. Mark Zuckerberg
el ess om0 5008
™ = ¢}
2. Google b. Sundar Pichai
rorred ool Doedh
3. Twitter ¢. Jan Koum
&re8 PN Ton
4. Facebook d. Jack Patrick Dorsey
o] =8 F@S &°6)
Codes:
6y
Options :
1-d. 2-b. 3-a. 4-c
55213181077.
1-a. 2-b. 3-d. 4-c
55213181078.
-c. 2-b. 3-d. 4-
55213181079, 1C- 270- 3-d. 4-a
1.b. 2-a. 3-c. 4-d
55213181080.
Sub-Section Number : 6
Sub-Section Id : 5521311821
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213120639 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two taps ‘A" and ‘B’ can fill a tank 1n 20 and 30 minutes respectively. There is an
outlet °C”, If all the 3 pipes are opened, the tank will be filled in 24 minutes. The
time taken for *C" alone to empty the full tank 15 ( m minutes)
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Options:

22
55213181081.

24
55213181082.

25
55213181083.

28
55213181084.

Question Number : 22 Question Id : 55213120640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Geetha will reach her office 15 minutes late by walking at 4 km per hour from her
house. The next day she increases her speed by 2 kmph and reaches in time. Then
the distance from her house to office 1s ( in km)
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Options :

3
55213181085.

4
55213181086.

D
55213181087.

6
55213181088.

Question Number : 23 Question Id : 55213120641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

23. The price of 60 articles 15 Rs. 20 each. 20 articles were sold at Rs. 24 each. To get
an overall profit of Rs. 5 per article. the price of the remaining articles be sold is.
60 S0 O e 2883 e 20 . 20 SWHen (e 2883 Er. 24 THpd
B0, 198 2.8 &r. 5, €730 SPodERE DAOY SNHeN 2.538) TR
9020900 OO

Options :

55213181089.



24.5
55213181090.

255
55213181091.

28.5
55213181092.

Question Number : 24 Question Id : 55213120642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The average weight of 40 ttems 15 15 gm. When the weight of the basket s added
to the weight of balls. the average increased by 0.5 gm. Then the weight (in gm) of
the basket 15

40 Qo)
SB0oDSH P DED 05 M DEHHR0E. @3y 28 Tod) 28 ([FsHeS)

Options:

15

55213181093.

55213181094.



55213181095.

40
55213181096.

Question Number : 25 Question Id : 55213120643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence 1s

nt l"'E' ] (=) W, W -
808 15006 S oD @5 T HaXTT0

QYCD: PXEF, . NVI1I], MUKL
Options :
JPRI
55213181097.
QBBIJ
55213181098.
RRMY
55213181099.
OVGH
55213181100.

Question Number : 26 Question Id : 55213120644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The following venn diagram represents the number of persons who know different

languages. Then the total number of persons is

800 30 D0, DG 27100 BOVS SO NOD2D APDN0D. @I P NS0

}
-

22500 00§

Options :

18425
55213181101.

18481
55213181102.

18721
55213181103.

18656
55213181104.

Question Number : 27 Question Id : 55213120645 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 36, 31, 29, 24, 22, 17. 15,
D50 SHodd Howe 36, 31,29, 24,22, 17, 15,

Options :

13
55213181105.

12
55213181106.

11
55213181107.

10
55213181108.

Question Number : 28 Question Id : 55213120646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If ‘P + Q" means ‘P 1s the father of Q", ‘P # Q" means ‘P 1s the brother of Q"; ‘P -Q°

means ‘P 15 the mother of Q”, then which of the following 15 true about Ax B-C+D
'P+Q' O P Q8 #od ;' PxQ @0 'P' Q) TE) AFODC; P-Q OST P Q’
B8 3O . Iy Ax B - C +D§ [Bod 85 A Ao

Options :

B is the son of A

B, A 3% §%%
552131811009.

A 15 the uncle of C
A, C O35 23723700 / add®end

b
iy

55213181110.



B is the father of A

B. A Gw¥) $old
55213181111.

C 1s the mother of B
C. B 3B, &6
55213181112.

Question Number : 29 Question Id : 55213120647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Statements: The average number of persons per household 15 5 m urban areas
whereas 1t 1s 7 in rural areas. The national average s 6.

TS0 ([P Posed Hfiend 25208 7508, AT oz Hien 5
500 &) &. 2 e 6.

Conclusions; I The population per unit area in the rural areas 15 higher than in the
urban areas.
S0A0:L 98 [Foare $oT) [P (Foad 1 AHFNE 2T ST &0

II. The average number of persons per household in the rural areas is less
than the urban areas.
I [P Froeee fyTo Gng) Sede Miien do9; H8m Froee &)

b T A
@é‘u;;o.‘.ﬁ‘ @08

Options :

both I and IT are true

SNVleleV 2udd
55213181113, L0000 I &&p

I 1s true and IT 1s false

I 2dp 06k O &5
55213181114. 7 Y



I 1s false and II 1s true

[y NOCID IT ey
55213181115.

both I and IT are false
Ivéoy é@a
55213181116.

Question Number : 30 Question Id : 55213120648 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

M 1s brother of N. O is the father of M. P 1s brother of Q, and Q 1s daughter of N. the
relation from M to Q 1s

M, N Q%) Fd%ch; 0, MO, Sod P, Q3% &Sk SnBCk Q N T3E),
502070, M D0G Q5 do20do

Options :
Mother
55213181117.
Father
08
55213181118. ey
Uncle
o L ) R B
552131811109.
Grandson
o) e ey Cad

55213181120.



Sub-Section Number : 7
Sub-Section Id : 5521311822

Question Shuffling Allowed : No

Question Id : 55213120649 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

Ha: (349200 Q31 b0 Q.35 SO, 808 Narardo edormr &) Q.

The total Profit and Expenditure incurred (in lakhs) by a company during the financial
years 2013-19 1s presented in the following graph. Assume that in each financial year,
Income = Profit + Expenditure

2013-19 880% H038 TS 502d IS0 erzren HBAD Py (OFOS) &

506 BrdssnS 3052800, 198 808 H0s81808, S0 = erdo + 55000

ook,
a5 s Prfil === Expenditure
)
40 38 ! 37 P
30
30 35
25 28
27
20 o
‘ YO -ul
15 18 \12/ 19
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5
0
201314 201415 201516 201617  2017-18  2018-19
Profit & Expenditure of a Firm

Sub questions

Question Number : 31 Question Id : 55213120650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The total Income in the financial year 2016-17 (in lakhs) is
2016-17 e30¥ 0053506 JSBO 70RO (O F )

Options :

30
55213181121.

40
55213181122.

28
55213181123.

16
55213181124,

Question Number : 32 Question Id : 55213120651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In the year 2014-15. the percentage of expenditure incurred over the mcome 1s
2014-15 Q0N TNE, &Tr000D I Yo ) TS0 __

Options :

28.75
55213181125.

36.25
55213181126.

28.64

55213181127.



38.46
55213181128.

Question Number : 33 Question Id : 55213120652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The percentage of profit increased m 2015-16 when compared with 2013-14 1s

2013-14 & FOV, 201516 ¢S erdio____ 7eh0 DOA0HO.
Options :
12.0
55213181129.
28.57
55213181130.
40.0
55213181131.
32.35
55213181132.

Question Number : 34 Question Id : 55213120653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



In the six financial vears, total percentage of expenditure in the income 1s
; b — a o ¥
&3t @08 D00 TY | JNB0 BIIFON0R Bl )0 DA ) T°ed0

Options :

38.22
55213181133.

61.78
55213181134.

61.86
55213181135.

28.75
55213181136.

Question Number : 35 Question Id : 55213120654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In 2017-18. the total profit (in lakhs) 1s

- - = = - ol
2017-1865 D[S0 ero (@ F )

Options :
20
55213181137.
55213181138,
19

55213181139.



18

55213181140.

Sub-Section Number : 8
Sub-Section Id : 5521311823
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213120655 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who mvented the high level language “C™?

83 A O S0 d5H?
Options :

Denmis M. Ritchie
55213181141.

Niklaus Writh

Qe DG
55213181142.

Seymour Papert

arD 500
55213181143.

Donald Kunth

a‘mg %o
55213181144.



Question Number : 37 Question Id : 55213120656 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s a serial bus

i, = £ = B S gl al l.l—-:
8ol =EE° D& VO 2R

Options :
55213181145. L

ISA
55213181146.

USB
55213181147.

GPIB
55213181148.

Question Number : 38 Question Id : 55213120657 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

What does the acronym POP stand for?

PoP &=C &30
Options :

Post Ofticed Protocol
B gof

D sHRE |@fisd
55213181149. =

¥



Post Office Protocol

ai=d o, = £ s=B
PR VIR FED

55213181150.
Post Oftficial Protocol
BT odhdchd DP=S
55213181151. S
Postal Office Protocol
LS ehn @‘E'é.fﬂﬁ
2 .
55213181152.

Question Number : 39 Question Id : 55213120658 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

FTP stands for
FTP o

Options :

File transport protocol

S 58 (PeFsE
55213181153. = VTS S

File transfer protocol

1:"6-
a?ﬂ

6 (2555 DS S

55213181154.

File transit protocol

55213181155.



File tracking protocol

¢ tr30R @S
55213181156.

Question Number : 40 Question Id : 55213120659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s UGC mutiated network of university libraries

UGC Zntien ES 420700 (forre ACI8), &2 Bod =ES° 207

Options :

mnflibnet
55213181157.

infonet
55213181158.

ermet
55213181159.

mdonet
55213181160.
Sub-Section Number : 9
Sub-Section Id : 5521311824
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213120660 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An annual event that is observed on July 11® of every year is

28 JodF %o 278 113 2B ED 08 o8 Babaw

Options :
World Environment Day
BD0S Hotte R0
55213181161.
World Forest Conservation Day
BDHoS e Sobger L
55213181162.
World Population Day
(BN amrgre LHdam
55213181163.
World Food Security Day
DD0S e35BY E5e DI
55213181164.

Question Number : 42 Question Id : 55213120661 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The largest wind farm of the world 1s

IV (BBOIYH mOIFID SoEiEm

Options :

Mancelona Wind Farm
SN mORPIDH Solism

55213181165.



Ganso Wind Farm

NS mOrrh SolEsan
55213181166.

King Mountain Wind Ranch

3oh STo8R md Tron
55213181167.

Jagur Creek Wind Farm

P8 (85 mOFrrH SolBsm
55213181168.

Question Number : 43 Question Id : 55213120662 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s chief pollutant of Bhadra river in Karnataka ?

Srs6°0 Ylorsh Senhiprdd (Hors seendy o880 & (Bod =8¢ da?
= o = ]
Options :

Indraprastha power station effluent

BOlGHD HH8 DETH0d DHGSeDr Sends B
55213181169. 9 = 2

DDT from pesticide industry

1880 HoFEEE BB ood) D tﬁ@:cﬁ:; DDT
55213181170.

Paper and pulp from Paper Industry

NS HOFD Sood Doy RS0 0ok ey
55213181171.



Fly ash and jute from jute industry

2235 T8 HOES o8 JHGeTr N0 e, esddw
55213181172. =

Question Number : 44 Question Id : 55213120663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following do not support soil erosion ?

=

& 8ol TRS° HB WSS FED S°)Kck?

[

Options :

Over grazing

©8MT o0
55213181173.

Shifting cultivation

oz SPBRRE D Dabéo
55213181174.

Forestation

©agen oD
55213181175.

Faulty cultivation practices

SPhzirong Ferd Dden

y g [

55213181176.

Question Number : 45 Question Id : 55213120664 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which is a baseless beliefregarding HIV transmission?

B0l =Q&° HIV {(EnDd egrdo ©
1 A

mo
1 Infected blood

06 P83 850
m.  HIV contaminated needles

HIV 3 Senhifo 308
iv. Mosquito

&

e

o
Options :

11
55213181177.

11 and 11
55213181178.
55213181179,
55213181180, 1andiv

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

b !
[

NRNSED &7

10
5521311825

Yes

Question Number : 46 Question Id : 55213120665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Indira Gandhi National Open University (IGNOU) was established in the year

S0NTrPos eéas 88 & duredho (IGNOU) ~r20dy $od8)8o

Options :

November 1986

Haond - 1986
55213181181.

September 1985

'FJT';'&O::E - 1985
55213181182.

December 1987

&moob - 1987
55213181183.

December 1988

=momnG - 1988

55213181184.

Question Number : 47 Question Id : 55213120666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is Not a goal of hugher education in India?

el

8ol RS° EETE a8 Doy oo AR AQ?
Options :
Equuty
RerNgro

55213181185.



Relevance

TEWEO
55213181186. =
Compulsory and free education
o8 &8 Iy
55213181187.
Value based Education
Denaw ogrld A
55213181188.

Question Number : 48 Question Id : 55213120667 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value Education stands for

DY et = endy VR i )
TR A VD mg{’ir\ﬁ__:'ﬁu;

L&)

Options :
Making students follow customs and traditions of the society
TS ol FoFETdrod dThen 00N D0E
552131811809.
Enhancing student employability
Do TEHNS %ﬂéaq_:;aa 2osroliodtio
55213181190. :

Inculcating virtues and culture to students

“m’tfgz'aﬂu 00y [odnsHR Em;éga:éﬁ penlsto

55213181191.



Making students to understand religious values

a8 JOoDOGIN VLIS LTHE) VIMPPR DrEDED

geb ) SCI0E
55213181192.

FaL
L

Question Number : 49 Question Id : 55213120668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The grounds on which discrimimation in admission to educational institutions constitutionally not
prohibited is

APRoRE (3508 KonoGod TremorIsIN ago 89 eodo,

o

Options

Religion

vz lo)
55213181193.

Sex

oo
55213181194,

Place of birth

55213181195. =

55213181196.



Question Number : 50 Question Id : 55213120669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Sam Pitroda served as:

- -
-

B 55D ~ = ot T D
Thew Al @ SRS SRJRTH

Options :
UGC Chamrman
DL ITEAPY TPEPY V00 BTN
55213181197.
NKC Chairman
- >, "
aeésh) B8 Voo elrsien
55213181198, N
Director— NCTE
PED T T Dold ©FiHen
55213181199.
Chairman—NCERT
S Do 0T BZe B0 ofen
55213181200. :
PSYCHOLOGY
Group Number : 2
Group Id : 552131272
Group Maximum Duration : 120

Group Minimum Duration: 120



Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 200

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No
PSYCHOLOGY

SectionId : 552131272

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 97

Number of Questions to be attempted : 97

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 5521311826

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213120670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



When a person who holds authority and power in the follower’s perspective it is

supposed to mvolve : whereas in . the person who

ever 1s requesting need not to be in state of authority.
Options :

Obedience. compliance
55213181201.

55213181202. Comparison. competition

55213181203. Honour. regard

55213181204, Cohesiveness. obedience

Question Number : 52 Question Id : 55213120671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is a likely combination of dimensions of Big Five factors to be

an effective leader?

Options:
High on extraversion. conscientiousness and openness. low on neuroficism
55213181205.
Low on extraversion. openness, average on conscientiousness and neuroticism
55213181206, _ :
Moderate openness. low on conscientiousness and neuroticism
55213181207.

High on extraversion. low on openness. conscientiousness and average on neuroticism
55213181208, = ! :



Question Number : 53 Question Id : 55213120672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
An unpleasant internal state that results when mdividuals notice inconsistency between

two or more of their attitudes or between their attitudes and their behavior

Options :
55213181200. Cognitive dissonance
55213181210, Fsycho-physiological disorder

55213181211, LOSS of homeostasis

Attitude incongruence
55213181212. B

Question Number : 54 Question Id : 55213120673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

In accordance with his view that development takes place within the social and cultural

environments. Vygotsky's concept of the included tasks that the chuld

could learn to do with the assistance of the parents. teachers. or other adults or peers
Options :
55213181213, Zone of distal development

55713181214, Zone of proximal development



Psycho-social development
55213181215.

55213181216. Sensorimotor stage

Question Number : 55 Question Id : 55213120674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Developmental Psychologists with approach to development look

for age related behaviours that are found across the entire human species, whereas
Psychologists taking the approach ask questions about the impact of

culture and environment on development
Options :

Universal. ecological
55213181217. i

55213181218, Lifespan. culture-specific

Sequential. focused
552131812109.

Longitudinal. survey
55213181220. 7 :
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Correct Marks : 2 Wrong Marks : 0

The psychological interventions for alleviation of poverty are founded on the
assumption that human development 1s shaped by the experiential base of the chuld.
They aim at strengthening and equipping individuals from poverty backgrounds with

skills and competencies necessary for effective

functioning,
Options :
Cognitive, motivational. and behavioural
55213181221. “
55213181222 Employment
Commmunication. occupational
55213181223.
55213181224, Assertiveness. verbal and interpersonal
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The incorporation of new learming into an existing schema. without the need to revise

the schema refers to . the incorporation of new learning into an

existing schema that requires revision of the schema refers to

Options :

Incorporation. revision
55213181225.

Absorption. re-learning
55213181226. z



Assimuilation. accommodation
55213181227.

Integration. re-integration
55213181228. = =
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The term that refers to changes in individuals related to the contact between two (or

more) cultures (ethnicity. nationality. race. or other dimensions of diversity) that the

person experiences is

Options :

Cross cultural change
55213181229. g
55213181230, Ctno-culturalism

55213181231, Culture shock

55213181232, Acculturation
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Which of the following are some of the important causes of gender discrimination?
1. Lack of education

1. Increase in employment

111 Lack of exposure

1v. Lack of urbamization

v. Dependence on laws

vi. Dependence on males

vit. Customs

Options :

55213181233, 1. 1il, vi and vii

11, 111, iv and v

55213181234.

55213181235, Ml IV: V, V1
i, 11 and iv

55213181236.
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Which of the following is a cognitive distortion in thinking?
Options:

55213181237 Dysfunctional beliefs

55213181238. DTEI’gEIlEl‘EIlIZBTIOﬂ

55213181239. Identification



55213181240. Assinulation
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Which of the following are therapeutic techniques based on principles of classical

conditioning?
1. Systematic desensitization

1. Token economies
i11. Aversion therapy
iv. Extinction

V. Flooding

Options :

1,111 and v
55213181241.

55213181242, 1,11 and 1i1

11 and 1v
55213181243.

55213181244, 11andv
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Correct Marks : 2 Wrong Marks : 0

A state of self-fulfillment i which people realize their highest potential in their own

Unique way is

Options :

55213181245, Indrviduation
55213181246. Self-actualization
55213181247, Individual psychology
55213181248, Action potential
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The term that refers to people’s own evaluation of their lives in terms of both their

thoughts and emotions and a measure of how happy people are is

Options :

552131812409. Emotional Intelligence
55213181250, oL esteem
55213181251, Supjective well-being

55213181252. C ognifive restruchuring
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What 1s the correct sequence of the major categories of focusing attention in meditation

with reference to the following?

1. a focus on the field

ii. a focus on specific object within the field

Options :
55213181253 Mindfulness meditation. Concentrative meditation
Field meditation. Object meditation
55213181254.
Subjective meditation. Objective meditation
55213181255.
Indigenous meditation. Universal meditation
55213181256.
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Fill in the blanks with correct sequence
The biologically determined and innate patterns of behaviour that exist m both people
and animals refer to
A requirement of some material (such as food or water) that is essential for survival of
the orgamism refers to
A psychological tension and physical arousal arising when there s a need that
motivates the organism to act in order to fulfill the need and reduce the tension refersto —— ———
1. Desires
11, Instincts
i1, Necessity
iv. Need
v, Impulse

v1. Drive
Options :
i, 111 and v
55213181257.
55213181258, 11> 1iland v

55213181259, 1- 111 and vi

55213181260, 1. 1vand vi
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Assertion (A): Cluldren are not able to discriminate the reality and its representation

Reason (R): Communication technology has enhanced the connectivity across the people.



Options :

Both A and R are true and R 1s the correct explanation of A

55213181261.
Both A and R are true. but R 1s not the correct explanation of A
55213181262.
A 1s true. but R 1s false
55213181263.
A 15 false. but R 1s true!
55213181264.
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Match the following

1. Bem a. Psychological Reactance
2. Festinger b. Social identity theory
3. Brehm ¢. Self-perception theory
4. Turner and Tajfel d. Cognitive dissonance
Options :
. 9-d. 3-4. 4
55213181265, 1 2°d- 384D
-d. 2-a. 3-b. 4-
55213181266, |0 2% 3D, 4
1-b. 2-c. 3-d. 4-a
55213181267.

. 2-d. 3-b. 4-:
55213181268, |- 27 3. 4-a
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Assertion (A): Communication revolution has mcreased the distances across the globe

Reason (R): Media is substituting the first-hand direct experience.

Options :

Both A and R are true and R 1s the correct explanation of A
552131812609.

Both A and R are true. but R is not the correct explanation of A
55213181270.

A is true, but R 1s false
55213181271.
55913181272, A 1s false. but R is true
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Match the following
1. People have an optimal level of tension a. Incentive approach
that they seek to maintain by increasing
or decreasing stimulation
2. Behaviour 1s explained as a response to b. Hierarchy of needs
the external stimulus and its rewarding
properties
3. Human beings must first fulfill physical c. Self-determination theory
and security needs before being able to
fulfill the higher needs
4. Social context of an action has an effect d. Arousal theory

on the type of motivation existing for

the action
Options :
3 o e W WY
55213181273, L0 ¢ 3-d. 4-a
I-c. 2-d, 3-b, 4-a
55213181274,
I T g
55213181275, 1-d- 2-a. 3-b. 4-c
R 2 g
55213181276, L~C- 272 3-b. 4-d
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Choose the correct answers from the options given below the statement

Some of the basic elements of person-centred therapy as demonstrated by the therapist
to the client are

. Reflection of the client’s statements

i1. Transference

i11. Analysis of resistance

iv. Unconditional positive regard

v. Empathy

vi. Reward and punishment
Options :
55213181277, 1+ 1V and v

55213181278, 11- 1V- Vand vi

55213181279, 1 111, 1V, vand vi

55213181280, 1andvi
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Choose the appropriate answer that gives a correct sequence of choices that fill the
blanks given below:

The ability to form mental representations of objects that are no longer present

The ability to understand that changing the form or appearance of an object does not
change its quantity

Limitations on the ability to understand the pont of view of other people

1. Object permanence

1. Ethnocentrism

i11. Imagery

1v Conservation

v. Altruism

vi. Egocentrism

vi1. Self-centeredness
Options :

55213181281, 1 illandv

55213181282, 1 Vand vi

55213181283, 1- 1V and vi

55213181284, 11V and vii
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A concept held about a person or a group of people that 1s based on being male or

female refers to

Options:

Sexual typing
55213181285. typing
55213181286. Sexism
55213181287, Oonder stereotype

Gender discrinmunation
55213181288,
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Match the following newborn reflexes

1. Babinskireflex a. Stroking a baby’s cheek results in the baby’s turmng

toward the touch and opening its mouth

2. Palmar b. Stroking the baby’s foot causes toes to spread out
3. Moro ¢. Placing an object in the hand produces reflexive
Gripping
4 Rooting d. If the baby’s head falls backward. the arms first spread
out. and then ‘hug’
Options :

Ay BUE
55213181289, 170 2°¢. 3-d. 4-a



1-c. 2-d. 3-a. 4-b

55213181290,
- 3 i 100 1
55213181291, L0 2@ 3-b. 4-c
g g
55213181292, 17a 2-d. 3-b. 4-c
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Which of the following may be categorized as health impairing behaviours?

1. Smoking

1. Exercising

111. Consuming excessive Alcohol

iv. Obesity

v. Person-to-person contact involving the exchange of bodily fluids. primarily semen

and blood

vi. Eating nutritious food

Options:

55213181293, 1l 1V.and vi

55213181294, 1. 1iiandwv

55213181295, 11, 1vand v

iv, v and vi
55213181296.
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Assertion (A): Viewing violence is often linked with the increase i violence in real life

Reason (R): The exposure fo the media sensitizes us in relation to certain kinds of events

Options :

Both A and R are true and R 1s the correct explanation of A
55213181297.

Both A and R are true. but R is not the correct explanation of A
55213181298.
55913181290, A 1s true. but R is false

A 1s false. but R 1s true
55213181300.
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Body’s electrochemical communication circuitry-
Options :

Commumnication System
55213181301. -



Nervous System
55213181302.

Circulatory System
55213181303. .

Chemical System
55213181304.
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Two types of cells in the nervous system -

Options :

Axons and Dendrites
55213181305.

Neurons and  Axons

55213181306.

Neurons and  Glial
55213181307.

Axons and Glial
55213181308.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Chemical messengers manufactured by the endocrine glands-
1. Hormones
1i. Neurotransmitters

Which of the answers given above is / are correct?

Options :

Bothiand i1
552131813009.

55213181310, 1 O0IY

i1 only
55213181311.

55213181312, Neither
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Nonverbal realms. such as emotions and music. are controlled primarily by the
hemisphere of the brain. whereas the hemisphere 1s more

responsible for speaking and reading.
1. Left
i1.Front
ii1. Right
iv. Back

Which of the statements given above 1s / are correct?

Options:



55213181313, llandi

55213181314. 1v and ii

55213181315, | and 1ii

55213181316, 1l and 1
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The process of receiving stimulus energies from the environment-

Options :
Sensation
55213181317.
55213181318, ©creeption
552131813109. Gestalt
Constancy
55213181320.
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Correct Marks : 2 Wrong Marks : 0
A predisposition or readiness to perceive something in a particular way -
Options :

55713181321, Cestalt Psychology

Perceptual constancy

55213181322.

Perceptual set
55213181323.

Sensory memory
55213181324.
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Match the characteristics of sound.

List I (Characteristics) List IT (Name)
1. Perceptual mterpretation of the frequency of a sound a. Frequency
2. Amount of pressure produced by a sound wave relative to a b. Timbre

standard measured in decibels (dB)

3. Perception of the soundwave’s amplitude c. Loudness
4. The perceptual complexity. or the tone saturation. of a sound d. Amplitude
e. Pitch
Options :
-e, 2-b. 3-a. 4-
55213181325, Lo 20x 38, 4d

1-d. 2-¢. 3-e. 4-a
55213181326.



l-e. 2-d. 3-c. 4-b
55213181327.

l-c. 2-e. 3-a. 4-d
55213181328.
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The extensiveness of processing at any given level of memory.

Options :

55213181329, Encoding
Decoding

55213181330. =

55213181331, Rehearsal
Elaboration

55213181332.

Question Number : 84 Question Id : 55213120703 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the types of memory

List I (Memory) List IT (Name)
1. Where and when of happenings a. Procedural
2. A person’s knowledge about the b. Working
world
3. Memory for skills c. Episodic
4. Conscious recollection of information d. Explicit
e. Semantic
Options :
l-a. 2-e. 3-c. 4-b
55213181333.
sl g Roa A
55213181334, 170 27C. 3-¢. 4-a
- Do A 4-
55213181335, 17 27 3-d. 4-a
l-c. 2-e. 3-a. 4-d
55213181336.
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A disruption of memory that occurs when material learned earlier interferes with the

recall of material learned later-
Options :
Recall Interference

55213181337.

55213181338, Retrieval Interference



55213181339. Retroactive Interference

Proactive Interference
55213181340.
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An mntelligence theory that suggests that there are three basic forms of intelligence:

Componential. Experiential, and Contextual
Options :

55213181341, Multiple

Triarchic
55213181342.

55213181343, Ceneral

Specific
55213181344.
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Tests designed to measure the ability to acquire new mformation. used primarily to

predict future performance-
Options :

55213181345, - Pility Tests

Aptitude Tests
55213181346.

Achievement Tests
55213181347.

Intelligence Tests
55213181348.
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Sub-tests of the Wechsler Adult Intelligence Scale (performance)-
i Picture Completion

1. Digit Symbol

iii. Digit Span

Which of the alternatives given above is / are correct?

Options :

55213181349, 1 A0d 11

55213181350, 11 and il

55213181351, 1andiii



All the three
55213181352.
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Some psychologists make the distinction between mtelligence. which reflects

reasoning. memory. and information-processing capabilities. and intelligence.

which is the information, skills. and strategies that people have leamed through
experience.

1. Fluid

ii. General

iii. Crystallised

Which of the answers given above are in correct sequence?

Options :
55213181353, 11iandi
55213181354, 11 andiii

55213181355, 1 andiil

55213181356, 111 and i1
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The painful imjection that Tara received during each hospital visit was a(n)

stimulus that elicited the response. her tears.

1. Conditioned

ii. Unconditioned

iii. Neutral

Which of the answers given above correctly fill-up the sentence?
Options :
55213181357, 1and i

11 and 1
55213181358.

55213181359, 11 andi

55213181360, 11 andiil
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Assertion (A): Artificial intelligence can be used to solve any type of problem.

Reason (R): Artificial mtelligence mnvolves processes similar to human brain.

Options:

Both A and R are true and R 1s the correct explanation of A
55213181361.

55213181362.



Both A and R are true. but R is not the correct explanation of A

A 1s true, but R 1s false

55213181363.

A 1s false. but R 1s true
55213181364.
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None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (92 to 95)

Question Label : Comprehension

Charles Spearman believed that people have both a general intelligence and specific
intelligences. With all of the interest in the multiple intelligences proposed by Gardner
and Stenberg. it might seem that the concept of a general intelligence 1s outdated.
Contemporary experts on general mtelligence disagree. They argue that mdividuals do
have a general intelligence and that it includes abstract reasoming or thinking. and
problem-solving ability. In addition. they maintain. it has real-world applications as a
predictor of school and job success. For example, scores on tests of intelligence are
substantially correlated with work performance. Individuals with higher scores on tests

of intelligence tend to get lugher-paying. more prestigious jobs.

Sub questions

Question Number : 92 Question Id : 55213120712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Who proposed the concept of a general intelligence?
Options :

Gardner and Stenberg
55213181365.

Spearman
55213181366.

55213181367, -1 of them

None of them
55213181368.

Question Number : 93 Question Id : 55213120713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The concept of intelligence proposed by Charles Spearman 1s-

Options :

Outdated
552131813609.

A predictor of school and job success
55213181370.

It has no real-world applications
55213181371.



Not correlated with work performance
55213181372.

Question Number : 94 Question Id : 55213120714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

General mtelligence has application as-
Options :

Abstract reasoning
55213181373.

Problem-solving ability
55213181374.

Predictor of school success
55213181375.

Correlated with work performance
55213181376.

Question Number : 95 Question Id : 55213120715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The scores on tests of intelligence are correlated with -

Options :



Abstract reasoning
55213181377.

Problem-solving ability
55213181378.

Predictor of school success
55213181379.

Work performance
55213181380.

Sub-Section Number : 3
Sub-Section Id : 5521311828

Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 55213120716 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

According to James — Lange theory of emotion. perception of emotional

produces bodily changes leading to of emotion.

1. Response

1. Stimulus

i11. Experience

Which of the answers given above are in correct order to fill-up the blanks?
Options :

55213181387, 1 andi

111 and 1
55213181382.



55213181383, L1 and il

111 and 11
55213181384.

Question Number : 97 Question Id : 55213120717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

According to Schachter and Singer. there are two factors. high arousal and
an emotional interpretation of that . that are essential for emotions to be
experienced.

1. Physical

i1. Physiological
i11. Arousal

Which of the answers given above are in correct sequence to fill-up the blanks?
Options :

55213181385, 1andiil

55213181386, 11 and iii

55213181387, 1l and1
1 and 1i

55213181388.

Sub-Section Number : 4

Sub-Section Id : 5521311829



Question Shuffling Allowed : Yes

Question Number : 98 Question Id : 55213120718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Physiological effects of stress-

i.  Release of adrenaline and noradrenaline

11.  Expansion of air passages in lungs

ii1. Increased heart rate

Which of the statements given above is / are correct?
Options:

55213181389, 1andii

55213181390, ! andiii

55213181397, 11 andiii

All of them
55213181392.
Sub-Section Number : 5
Sub-Section Id : 5521311830
Question Shuffling Allowed : Yes

Question Number : 99 Question Id : 55213120719 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Defence mechanism that banishes anxiety-arousing thoughts and feelings from

CONSCIOUSness-

Options :

Regression
55213181393.

Projection
55213181394.

Repression
55213181395.

Rationalisation
55213181396.

Question Number : 100 Question Id : 55213120720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
What 1s the correct sequence of Bowlby’s four-phases of socialisation?
1. Goes beyond rough expectancies with reference to other people

i1. Infant does not discriminate one person from another

i11. Infant takes the initiative in moving close to and maintaining proximity with human

figures. dominantly the mother

iv. Infant differentiates between different people

Options:



1, 1v.111 and 11
55213181397.

55213181398, 1V, 1ii, 1 and ii
55213181399, 1 1V.1i1and1

55213181400, 1ii.1i, 1vandi

Question Number : 101 Question Id : 55213120721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): If the emotional counterpart 1s blocked. the motivated behaviour 1s inlibited.

Reason (R): Motivation is a goal directed action based on prior affective experiences,

Options :

Both A and R are true and R 1s the correct explanation of A
55213181401.

Both A and R are true. but R 1s not the correct explanation of A
55213181402.

A 1s true. but R 1s false
55213181403.

A is false. but R is true
55213181404.

Question Number : 102 Question Id : 55213120722 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Other responses to frustration are possible besides aggression.

Reason (R): Frustration 1s not the only cause of aggression.

Options :

Both A and R are true and R 1s the correct explanation of A
55213181405.

Both A and R are true. but R is not the correct explanation of A
55213181406.

A 1s true, but R 1s false
55213181407.

A 1s false. but R 1s true
55213181408.

Question Number : 103 Question Id : 55213120723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Children cry when they are hungry or hurt and laugh when they are happy.

Reason (R): Expression of emotions 1s mnate.
Options:

55913181400 Both A and R are true and R 1s the correct explanation of A

Both A and R are true. but R is not the correct explanation of A
55213181410.



A 1s true. but R 1s false
55213181411.

A 1s false. but R 1s true
55213181412.

Question Number : 104 Question Id : 55213120724 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following nervous activities:

List I (Activity) List IT (Responsibility)
1. Carry information to the brain a. Parasympathetic Nervous System
2. Carry the brams output b. Sympathetic Nervous System
3. Arouses the body ¢. Motor Nerves
4. Calms the body d. Sensory Nerves
Options :
-d. 2-b. 3-c. 4-z
55213181413, 1 20: 3¢, 4-a
-d. 2-c. 3-b. 4-a
55213181414.
1-b. 2-c. 3-d. 4-a
55213181415.

1-¢c. 2-b. 3-a. 4-d
55213181416.



Question Number : 105 Question Id : 55213120725 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
The part of the neuron that carries information away from the cell body toward other
cells -
1. Axon
ii. Dendrite
ii1. Nucleus
IV. Mitochondria

Options:

Only 1
55213181417.

55213181418, 11 and il

55213181419, - 11andiii

Only iv
55213181420.

Question Number : 106 Question Id : 55213120726 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Chemicals that carry information across the synaptic gap from one neuron to the next -

Options:



55213181421 Action Potential

55213181422, Rellexes

55213181423, Iiormones

55213181424, T\eurotransmitters

Question Number : 107 Question Id : 55213120727 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
A set of glands that regulate the activities of certain organs by releasing their chemical

products into the blood stream-

Options:

Circulatory System
55213181425.

Endocrine System
55213181426.

Cranial System
55213181427. i}

Nervous System
55213181428.

Question Number : 108 Question Id : 55213120728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Endocrine glands mstrumental in regulating moods. energy level and ability to cope
with stress-

Options :

Pitwitary
55213181429.

Gonads
55213181430.

Adrenal
55213181431.

Thvroid
55213181432. =

Question Number : 109 Question Id : 55213120729 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Receptors in the retina that process mformation about colour -
i. Rods
ii. Cones
iii. Glal cells
1v. Neurons
Options :

55213181433, landii



Only 11

55213181434,
11 and 111

55213181435.

55213181436, 11 andiv

Question Number : 110 Question Id : 55213120730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

“Whole is different from the sum of its parts™ is not associated with -
Options :

55213181437, T-obler

55213181438, Wertheimer

Walter Mischel
55213181439.

Koftka
55213181440.

Question Number : 111 Question Id : 55213120731 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The retention of information over time through encoding, storage and retrieval-
Options :

Creativity
55213181441.

Intelligence
55213181442.

Memory
55213181443.

Shaping
55213181444,

Question Number : 112 Question Id : 55213120732 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The memory system that holds information from the world in its original form for only
an instant. not much longer than the brief time it 1s exposed to the visual. auditory. and

other senses-

Options :

Sensory Memory
55213181445. = o

Short-term Memory
55213181446.

Long-term Memory
55213181447.

55213181448.



Permanent Memory

Question Number : 113 Question Id : 55213120733 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The conscious repetition of information to increase the durability of memory-

Options :

Chunking
55213181449, -

Categorization
55213181450.

Rehearsal
55213181451.

Elaboration
55213181452.

Question Number : 114 Question Id : 55213120734 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
A memory task in which the individual must retrieve previously learned mformation-
Options :

Recall
55213181453.



Retrieval

55213181454,

Recognition
55213181455.

Interference
55213181456.

Question Number : 115 Question Id : 55213120735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

An mtelligence theory that suggests that there are three basic forms of mntelligence:

Componential. Experiential. and Contextual

Options :
55213181457, “ultiple
Triarchic
55213181458.
General
55213181459.
Specific
55213181460.

Question Number : 116 Question Id : 55213120736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A genetically caused condition that results in mental retardation-

Options :

Down Syndrome
55213181461.

Mutation
55213181462.

Hybridisation
55213181463.

Genetics
55213181464.

Question Number : 117 Question Id : 55213120737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): In serial position curve, maximum items are remembered from the
middle of the list.
Reason (R): The primacy and recency effects explain the nature of serial position
curve.
Options :

Both A and R are true and R is the correct explanation of A
55213181465.

Both A and R are true. but R is not the correct explanation of A
55213181466.



A 1s true. but R 1s false
55213181467.

A 1s false. but R 1s true
55213181468.

Question Number : 118 Question Id : 55213120738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): After seemng violent action of a model an individual 1s likely to indulge
in violent act.

Reason (R): Individuals acquire new responses not previously at their disposal sumply
by observing the actions of others.

Options :

Both A and R are true and R is the correct explanation of A
552131814609.

Both A and R are true. but R 1s not the correct explanation of A
55213181470.

A 15 true, but R is false
55213181471.

A 1s false, but R 1s true
55213181472.

Question Number : 119 Question Id : 55213120739 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Assertion (A): In classical conditioning. the neutral stimulus becomes the conditioned
stimulus.

Reason (R): It is associated with the unconditioned stimulus.

Options :

Both A and R are true and R 1s the correct explanation of A
55213181473.

Both A and R are true. but R is not the correct explanation of A
55213181474.

A 1s true. but R 1s false
55213181475.

A is false. but R is true
55213181476.

Question Number : 120 Question Id : 55213120740 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Gestalt approach has been unsuccessful in explaining most of the facts
of our perceptual world.

Reason (R): Gestalt approach 1s based purely on hypothetical constructs.

Options :

Both A and R are true and R 1s the correct explanation of A
55213181477.

Both A and R are true. but R is not the correct explanation of A
55213181478.

A 1s true. but R 1s false
55213181479.



A 1s false. but R 1s true
55213181480.

Question Number : 121 Question Id : 55213120741 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
What is the correct sequence of psychologists who studied intelligence?
1. Gardner
ii. Spearman
i11. Cattell
1v. Sternberg
Options:

55213181481, 111, 1i1and v

55213181482, 11 1> 1V and il

55213181483, 11, 1V, 1i1 and 1

iii, 11, iv and i
55213181484.

Question Number : 122 Question Id : 55213120742 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An innate impulse or motive-

Options :

55213181485, LIIVE
Homeostasis

55213181486.

55213181487, nstmet
Need

55213181488.

Question Number : 123 Question Id : 55213120743 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the correct sequence of Maslow’s Hierarchy of Needs?
i. Need for Safety
ii. Need for Love & Belonging
iii. Need for Survival
iv. Need for Esteem
Options :

55213181489, 1. 11. 1ii and iv

55213181490.

55213181491.



iii, 1, 11 and iv

55213181492, 1l 11, 1vandi

Question Number : 124 Question Id : 55213120744 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The bodily response to stress consisting of three stages: alarm reaction: resistance;

and exhaustion is known as-

Options :

Physiological Syndrome
55213181493.

Cognitive Appraisal feature
55213181494.

General Adaptation Syndrome
55213181495.

James — Lange Theory
55213181496.

Question Number : 125 Question Id : 55213120745 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Behaviour pattern that involves impatience. tume pressure. competitiveness. and
hostility-
Options :

Type O’
55213181497.

Type ‘A’
55213181498.

Type ‘B’
55213181499.

Type “‘AB’
55213181500.

Question Number : 126 Question Id : 55213120746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Assertion (A): Effective leadership is necessary for organizational efficiency.

Reason (R): Modern organizations prefer mentoring than leadership.

Options :

Both A and R are true and R 1s the correct explanation of A
55213181501.

Both A and R are true. but R is not the correct explanation of A
55213181502.

A 1s true, but R 1s false
55213181503.

55213181504.



A 1s false. but R is true

Question Number : 127 Question Id : 55213120747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Non gratification of psycho sexual needs results in fixation.

Reason (R): Neurotic behaviour can be traced to the stage of fixation.

Options :

Both A and R are true and R 1s the correct explanation of A
55213181505.

Both A and R are true. but R is not the correct explanation of A
55213181506.

A 1s true. but R 1s false
55213181507.

A 15 false. but R 1s true
55213181508.

Question Number : 128 Question Id : 55213120748 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Based on the research on MBTI psychiatric professionals are of type.

Options :

ENFP
552131815009.



55213181510. il

55213181511. Sas

55213181512. oy

Question Number : 129 Question Id : 55213120749 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
A researcher studies 5 streams of students namely arts. science. commerce.

engineering and medical and codes them as 1,2.3.4.5 respectively. The type of scale

he is using 1s

Options :

Nominal
55213181513.

55213181514, Ordinal

Interval
55213181515.

Ratio
55213181516.

Question Number : 130 Question Id : 55213120750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

According to Indian Psychology purusharthas refer to

Options:
Developmental stages
55213181517. N
Personality traits
55213181518.
55913181519 Motivational forces
Personality types
55213181520.
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Bloom's taxonomy is applied in the

Options:

Occupational field
55213181521.
55213181522. Clinical field
55213181523, Sports field

Educational field
55213181524.
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Which of the following statement 1s true?

Options :

Character strengths are the measurable components of virtues

55213181525.

Virtues are the measurable components of character strengths.
55213181526. i P g

Character strengths and virtues are not related.
55213181527.

Virtues are essential for personality development
55213181528.
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Holland’s confribution to psychology 1s
Options :
Towards establishing relationship between personality. interest and career

55213181529.

55913181530, Towards understanding components of subjective wellbeing



55213181531, Towards establishing relationship between intelligence and emotional ntelligence.

Towards understanding personality and job satisfaction
55213181532. 5
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Which of the following does not belong to the group?

1. Run test
i1. Sign test
111, Friedman test

1v. Power test

Options :
i only
55213181533.
11 and 1i1
55213181534.

55213181535, 1v only

55213181536, 111 Only
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Which of the following are true of qualitative research?

i. Assumption of normal distribution 1s not necessary

ii. It 1s based on large sample size

111. It often uses purposive sample

iv. Generalization of the findings 1s limited to the sample.
Options :

55213181537, 1- i and iv

55213181538, 1- 11 and iii

55213181539.

55213181540, L li1andiv
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Which of the following statements are true?
1. Aptitudes are innate abilities that could be strengthened by training,
ii. Interests are acquired while aptitudes are innate
iii. Assessment of occupational mnterests ensures the probability of one to stick on to the job.

iv. Job success 1s contingent upon one’s attitude towards the job.



Options :
1,11 and 1v
55213181541. :

55213181542, 11 111 and 1v

55213181543, 1L 1iiandiv

55213181544, - 11 and il
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According to Hindu philosophy the correct order of ashramas that one passes through

one’s life is

1. Gruhasta i1 Sanyasa 1. Vanaprastha iv. Bramhacharya

Options :
1v, 1, 11 and 111
55213181545,
55213181546, - 11> 1V and il
1v, 1, 111 and 11
55213181547.

55213181548, 11, 111, 1v and 1

Question Number : 138 Question Id : 55213120758 Question Type : MCQ Option Shuffling : Yes
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Arrange the stages in ashtanga yoga in the correct sequence

1. Asana

ii. Dhyana
111. Nivama

IV. Pranavama
V. Prathyahara
Options :

iii, 1, 1v, v and ii
55213181549.

55213181550, 1= 11l 11, 1vand v

55213181551, 1l i1, 1,ivand v

55213181552, 11,1, 1v,1iand v
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Match the following

1. Emotional intelligence a. Goleman
2. Fhud mtelligence b. Weschler
3. Intrapersonal intelligence ¢. Cattell

4. Componential Intelligence d. Sternberg

€. Gardner

Options:
l-e. 2-d. 3-a. 4-b
55213181553
- 0 B 7
55213181554, 178 2°C. 3 d. 4-e
55213181555, 1-D-2-e. 3-a. 4-b

55213181556, 17C: 2-a. 3-e. 4-d
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Match the following

1. Projective test a. Cattel’s test

2. Speed test b. Aptitude test

3. Power test ¢. Sentence completion
4. Culture Fair test d. Neo five inventory

Options :



1-d, 2-b, 3-a, 4-c

55213181557
55213181558, ¢ 27D- 30 -2
55213181559, 1-0- 2. 3-d, 4-c
55213181560, Lty dt it
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Assertion (A):  According to Hindu Philosophy individual differences in
personality 1s attributed to differences in the degree to which
trigunas are present in the mdividuals.
Reason (R): Person with higher degree of Rajas guna is more energetic.
Codes:
Options:

Both A and R are true and R 1s the correct explanation of A
55213181561.

Both A and R are true. but R is not the correct explanation of A
55213181562.

55213181563, ‘> 15 true. but Ris false

A 1s false. but R 1s true
55213181564.
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Assertion (A): Prejudices are normally negative attitudes that affect social relationships.
Reason (R): Problem of discrimination agamst caste groups in India 1s due to prejudices.

Codes:
Options :

Both A and R are true and R 1s the correct explanation of A
55213181565.

Both A and R are true. but R is not the correct explanation of A
55213181566.

A 1s true. but R 1s false
55213181567.

A 1s false. but R 1s true
55213181568.
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Assertion (A): Probability sampling helps in drawing generalization about the population
Reason (R): Random sampling enables representativeness of population hence
generalization is possible.
Codes:
Options :

Both A and R are true and R 1s the correct explanation of A
552131815609.



Both A and R are true. but R is not the correct explanation of A

55213181570.

A 1s true. but R 1s false
55213181571.

A 1s false. but R 1s true
55213181572.
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Assertion (A): Psychophysics laid the foundation for Modern Scientific Psychology.
Reason (R): Psycho physical methods aim at understanding the process mvolved n
judging the physical stimulus and giving a response.

Codes:
Options :
Both A and R are true and R 1s the correct explanation of A
55213181573.
Both A and R are true. but R 1s not the correct explanation of A
55213181574.
A is true. but R 1s false
55213181575.
A 1s false. but R 1s true
55213181576.
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The advantage of two-way ANOVA is that

Options :
Analysis could be done twice
55213181577.
55913181578, It 1s more economical
It helps in testing interaction effect among variables.
55213181579. = =
It could be applied to all types of data
55213181580.
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Which of the following are the ethical practice(s) observed while using psychological tests?

1. Mainfaining the test results confidential.

ii. Obtaining informed consent from participants.

11, Communicating test results to adults only.
Options :

55213181581, 1 ONY

55213181582, 11 only



55213181583, 1andii

55213181584, 11 andiii
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Evoked potentials are also called:

Options :

Nuclear potentials
55213181585.

Seizure potentials
55213181586.

Cognitive potentials

55213181587.

Event related potentials
55213181588.
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One-way nonparametric analysis of variance is

Options:

Friedman test
55213181589.



MANOVA

55213181590.

55213181591, Kruskal-Wallis H test
Mann-Whitney U test

55213181592.
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Personality disorder characterised by impaired social relationships and inability and
lack of desire to form attachment to others
Options :

Dependent
55213181593.

55213181594, Paranoid

55213181595, ~rvoidant

Schizoid
55213181596.
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Flynn effect refers to

Options :

Incremental validity
55213181597. 2
55213181598, CcHerosity error
55213181599 Intelligence inflation

Item fairness
55213181600.



